DATE

Solve using by number bonds.

1) There are 42 biscuits in a tin. Radha took 9 biscuits from it. How many biscuits
have left in the tin?

Solution:
Number of biscuits in the tin= ___

Radha took ___ biscuits from it.

Number of biscuits have left = - =

By using number bond:

42 - 9
/\ 10 - 9 =
__+ 2 =13
32
/\ & =33
30

2) Sharma have 67 dollars. He gave 9 dollars to his sister Vennela. How many
dollar have left with him?

Solution:
Sharma have ___ dollars.

He gave ___ dollars to his sister.

Number dollar have left with Sharma = — =

By using number bond:

67 - 9
_-9=1
10 —+1=3
/\ 8 + 50 =

50
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